Report for Team 11

What was
— Carbon price: $50
— Facilities cost; $435

Was the decision to develop the Soda Water field?
YES

If so, what are the terms that were reached?
— Carbon toll; $47

If not, what else might be done given more time:



 What were the key issues and drivers for the
Government?

Understanding complex economics
Reducing cost of GHG mitigation
Domestic jobs and development
Forthcoming elections

 What were the key issues and drivers for the
Contractor?

Earning an adequate return



* Any key assumptions that you made?
Domestic jobs are better than exporting them
Saving money compared to buy allowances

e QOther costs/revenues taken into account
Overall return to the public

* Other ideas, issues or learning that the team wants to
discuss.

Better explanation of the spreadsheet



